[image: image1.png]2. Let A be the set {1, 2, 3}. List the ordered pairs in a relation on A which is
* (a) notreflexive, not symmetric, and not transitive.

(b) reflexive, not symmetric, and not transitive.

(¢) not reflexive, symmetric, and not transitive.
* (d) reflexive, symmetric, and not transitive.

(e) not reflexive, not symmetric, and transitive.

(f) reflexive, not symmetric, and transitive.




(The material is from Equivalence Relations. Please solve for parts (a), (b), (e), and (f). Thank you.)

